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Y x> —x—1=-1"5 x+2 EREEE T x=0 (x=17 F’—‘[)

41.%141 zl:_1+2i\/§,z2 2I\/_ » FIIN 3R D

(A) zZ+7;=-1 B z+z=-1 © zg'+z'=-1 ©) ’°+z’°=-1
[I%*J‘fj%ﬁli Ans:(B)

1:_1“\/5,22 :_1_“/53213:223:113 — :—1+|\/§+—1—|\/§:_1
2 2 2 2
~1+iv3,, ,—-1-i3

22 +2,2 =( )2 +( ) =-1-

2 2

42971 > AB FR[EN O [~ €]l > O KRfE-e > 5% BC 3V~ KD - (iR ]@e

o

/BDO = Z/AOC =60° » OD=5 - [[|[CD="?

(A) 4 (B) # © 3+¥3 O 5
[’Q*‘Eﬂ &1 Ans:(D)
ACOB 35 = &% » [jF=£COD =30°=CD=DO =5 -

BRI L S

PRI EIVIER Y (AIpra=57 ) 7

A 8 @B68 () 56 D) 14
[’%:E}Ej%ﬁli Ans:(A)
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5n+6_ 71

5+ =n-13|71 - FrIE | U =84
3t 3 | Vi o] TR
4, T B4 2 (o) + 3% (o ) 4 A (o ) 4 Bx (i) e V) ¢
2011 2011 2011 2011

2011, 2011., 2010, 2011
A G B) ) O (G D) £
) (2010) ) (2010) © (2011) ©) 2010
[%:%Ejﬁﬁ] * Ans:(B) © 4]

f(x):1+x+x2+x3+---:i(|x|<1): f/(X) =1+ 2X+3x* +4x° +---

1 1 1 1 1
= f'(—) =1+2x(——) +3x (——)? +4x (—)* +5x (—)* +---
(2011) * (2011) (2011) (2011) (2011)
1 1 2011
f'(—)=( )*

= f'(x) = > =
(1-x) 2011 2010

_ sin3x 5 Ccos3X .
45, “logi0<x<Z o # == [ 5 fll B {2
8 2 "sinx 3 g COoS X F IE F
1 1 10 11
A = B = C = D) —
(A) 3 B 3 © 3 D) 3
[%iﬁéf#'ﬁ‘] : Ans:(A)
SINSX _ _4sin+3...(1) COSSX _ 4cos’—3...(2)
sin x COS X
- S0 SO __gsine 3 (acos-g)=2 - B H - 5,22
siInX  COSX COS X 3 3

46. “UAIHIErm = 2 o YN Y (M= 2)x? + (M —4m+3)x—(6m® —2) =07 = AL > I T ALY
S FIEE 0 0 HIm B 2
@ 1 B 2 © 3 D) 4
(25H A1 Ansi©) » Fabell BRI L
fla®+b’=0 < a’=-b’=(-h)’ © a=-b = a+b=0 7| FFHILL 0 - PdI=
, m*—4m+3 6m* -2 m®—4m+3
X"+ X— =0 ——n—7—=
m-2 m-2 m-2
= (M-)(m-3)=0=>m=15 3

Fim=1 [ X -4=0 GIUEL T 4)

0(=f22 s %)

#m=3 > H L X2 -52=0 Xx=452 » Bl jm=3 o

47. 47 £ () ALAS T SR IRORTIR S 1 Fn g n et (e L g
f(8)=1> f(9=1- f0)=2> fUY=4% f(L2)=5 - f|| f (L00O) i ff £% fj7 ?
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(A)299 (B)300 (C) 301 (D) 401
[%-'F‘Ej%*ﬁ“ 1: Ans:(C) -
it:]‘ uf(x) » Elr [IXEJ@FH #5510" -1 >
#](9) 1 (1~ 9Hh+]ﬁﬂ‘§‘?ﬂ“€ )
f(99) =10+10=20 (1~99 I it Gopl fﬁ'fﬁ 10 st 1> A SRR fﬁ"fﬂ 10 it 1)
f(999) 160 100 40

n

EEIEE T 10 - =nx
Pl =fiv 50 s £ (1000) =3x100+1=301

=nx10"" = f(10") =nx10""+1

n 2
ABHINIm 2 o oy AR 2
1 1 3
@) 7 ® 5 (C)Z © 2
(% 4] Ans:(A)
k
O kn? 14§ 1X 11, 111
!mé(n2+k2)2 !llpon;[1+( )] I(1+x)dx_ 2 1+%° IO_2 4 4

49. i HALLfiE ?
(A) 5% <31%® <17* <10™ (B) 5% <17% <10* <31%®
(C) 5% <10*" <17® <31% (D) 17* <5%° <10* <31%
[‘é‘**‘fﬂ*ﬁ] Ans: (A) °
5% = 25% < 31% <327 =16% <17® < 27* =3 =9 <10™

2 10
50. i 3 2 O |\pvhTE R B (eigenvalues) I AIEL %) 7
0 0 4

A 0 B) 243 (© 4+243 D) 8
[ 5 Jﬁ;] Ans:(D) °

I B 4, 4+ ;*/5 —2+.3
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